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26. Th ;
. e .
ran COT.ldl.tlon forfggm‘o}}ﬂy for R.f}*"):’"var t
ANSmission network is expressed by

AC A)
(@) B D =0 (,ée
A B \%
(b) =0
=1
c
Ole
b 1
d | =
(d) B C |
i -phasé alternato?,
. ation of 8 3P ) o
s th:u;);cgt: infinite bus bars,llslfgagg
:/hiéh one of the following s}}al a
(a) Terminal voltage of machin€
(b) Active power of machiné
(c Frequency of machine .
\Ld) Reactive power of machiné
i hm are
28. Three resistances each of R'o .
connected in delta, its equ1valent star will
%yb, comprise three resistances each of values
vl o) Bjonm bl 3R
(c) R2 ohm (d) 2R ohm

A

@

Two 550 kVA alternators operates in parallel
to supply following loads :

i. jzso kW at 0.95 p.f. lagging

ii.) 100 kW at 0.85 p.f. leading
If one machine is supplying 200 kW at
0.9 p.f. lagging, then p.f. of other machine
will be
W’
(a) 0.95 lagging ¥

(b) 0.89 leading

o

' (c) 0.89 lagging
\/(d) 0.95 leading

26.

4

28.

29,
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(b) =0

(©) =1

A D

(d) .

B C
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(a) 7 i ofifaet arcear |

(b) ¥ 1 wfsha wfFa #

(c) Wit &t amgfer |

(d) wefia i wfifrareaes afe &

R 3im & o sy e § w4 2, -
AR TR G B W Wi F AT

(a) R/ stm (b) 3R I
() R/ 3w (d) 2R 3

2 550 KVA % e FHATR H & #
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i, 250 kW, 0.5 Ty W O
ii. 100 kw,o.ssmmrfmf%fm
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(0) For the networ
'k sho
wn 7&
_os

E gfer
1o " the tral>
2
20 it
! 3
N.
(a) 40 0
(b) 20
(c) 90
v
(d) -30
31. Whenatwo i:&:mﬁabmwo:sn ]
as an auto transformer, jtg . Sz.m connected
load Ciency at full
(a) Remains same

(b) Decreases
(c) Increases by 50%

(d) Increases
v

32. The Laplace transform of the wave form

shown below in the figure, is

fit)

5 Gumu @;«E
—-+75 5

(a) S ) +2.5 v o
m -2s ’ -6s

Ab) 2-7.5+2.55

S S mm
5 e mé
—+75—- ——

(© 3 v 2.5 =

-28 -6s

m e e
d —-75—-25—
@ 25

32

31.

(a) -40

(b) 20

() 90

(d) -30
ﬁ@%ﬁ?ﬂ%ﬂ%g#mﬂ
fr foRan ST R, @ 6 qof i ey
(a) FTTEd Tt R

(b) 9 & I 2
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(d) 3 & et 8
< ooty W o § et w1 am
ey
EJ
10f--===--
[}
I
I
]
]
_ M
0 2 4 6
m @rmu va-
Amvw+ﬂ.m|w4.+m.m|m|u|
?ﬁ#@&f@%\%
S s s
m Oxma Qvou
Erm:.fﬂm e lwmﬂﬁ.
5 -6s

(d)

Ome e
- =75-— - i
S-T55-255



wrrr

C;%S. Calculate the sag for a span of 200 m if the

%, 6000 kgf. Allow a factor of safety of 2.
(a) 2.0 m (b) 1.0 m
‘<> +‘?/
?g (d) 1.5m

 36. The vector statement of Gauss’s law is

-

33. .
::l: most suitable motor for urban and
-urban services of electric traction is

(a) Three phase induction motor
(b) Separately excited DC motor %
(c) Three phase synchronous motor X

(d) DC series motor

34. In the general form of first cauver-network,
if pole at infinitely then first element be

(a) a series capacitor
(b) a series inductor
msm———

(c) a shunt capacitor

(d) a shunt inductor

ultimate tensile strength of conductor is

(c)2.5m o %\/

(@) [[Dda = [p*dV
S \%

(b) $D.da = fodV
v S

" () $Dda = [pdv
N S v

(d) fD.da = ¢pdV
v s

37. The total reactance

and total suscept

:{ z; (I)os;less overhead EHV line opgf;?r?;
='1Z, are given by 0 045,

_ ‘ u.
1.2 p.u. r_espe'ctlvely. If the velocit§ of e
Propagation is 3 x Qs km/s, th " the
approximate length of the line. is’ o the

(3)22725 o (b) 122
v (d) 172 km
\
)
oo,
VLI/b *\é -6-

33. agaéisdwﬁwrﬁaaﬂiw

34.

35.

36.

37.

_qrrlra A
et Iz Al B

T geTeH Y Siftman SATEA -4 6000
2 | g U 2 ¥ WY 200 HE TR AAH

EICHS

(a) 2.0 m (b) 1.0 m
(c) 2.5 m (d) 1.5m
e % fram @ afew wuw @

(a) [[Dda = [p%aVv
(b) $D.da = odv
(c) ¢D.da = fpdV

(d) [Dda=¢pdv

50 Hz W ®fofd @ wifRfed sqomf @9
Hfd 359 dIeedr A W P sl 3K 3
TRVl ShHY: 0.045 p.u. (ufa g18) T
1.2 pu. (Y4 391§) & | 3Rk @1 wEw :
3x 10°km/s & 0 A1ET Y wrarg Bt
(a) 222 km (b) 122 km

(c) 272 km (d) 172 km
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The ratio of charge Storeq

. ic
spheres is raised to the s"by two m"w“

€ potential 1~

4

e ratio of the surface gre i

Th 028 Of the gphert 1°

(a) 36 DO

06 G

29

© 76 y ”vtf\

A

ol V4
3. An jndustﬁal consumer hag a daily load

pattern of 2000kW , 0.8 lagging power factor

for 12 hours and 1000 kw g UPF for 12
T

hours. The load factor is |
(b) 0.65 > A‘

"o

NA

V{a) 0.75

() 1.00 (d) 0.875

40. In cylindrica‘l’cg'-ordinates the equation

2
\"
l_a_(pg‘—/)+—l-9—=0 if (gw’\
papl op
Laplace’s equation with no

p2 a¢2
v
Z dependance
+ (b) Euler’s equation with no Z dependance

(c) Poisson’s equation with no
Z dependance
*(d) None of the above

41. A 50 MVA, 11 kV, 3-phase generator has
a stored energy of 400 MJ. Its inertia
~— N———

constant is —
(a) 2 MVA/MJ WE @\

(b) 4 MJ/MVA A

(c) 16 MVA/MJ /«?

\}M MJ/MvA

42. .
.2 A wave guide can be considered to be

analogousfo 3
(a) band )
pass filte a
l0W pas ' \Wou®
8 filter ¢8'
(c) band stop filter )
(d) high pass filter

@

39.

40.

41.

42.

Ega.r ]
g}rframmf%mmm% i
68ﬁmw“mtl . L
1 g & ML TN
(a) 36 |
(b) 6

1
© 75

2000 kW W*‘WW%MW
7T % HT¥ 1000 kw 3 | ¥R T 3
(a) 0.75 (b) 0.65

(c) 1.00 (d) 0.875

AT it ¥ o W wew
19 (V"L ¥V

;5("3‘,)‘“,,2 w0
(a) TTTE GHIRT Z W i 7 2
(b) T THFT Z T Fvfe 7 }
(c) TRIEA THiH Z W PR 7 R

(d) IR o @ B Tl

& 50 MVA, 11 kV Freen a3 $t afaa 391
400 MJ & 39! T5cd ot 2

(a) 2 MVA/MJ
(b) 4 MJ/MVA
(c) 16 MVA/MJ
(d) 8 MJ/MVA

T 39 TMEE F) HGN W1 o §Hl §, @
(a) ¥3 qrg fheet @
(b) & 9 et A
(c) ¥ w1y feet @
(d) &T¢ 9rg feet @
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43.

boun ary ¢
\

c
45. The leakage resistance of a 50 km long cable

If the fault takeg
Phase

Place between phase b and

S ChOOSEMrrect statement for

ondition for given figure.

~-LG

=

() V, = V_ —4b) =0 Y{Iorfa®
© I, = V31 ) L+1 =0

When a lossy capacitor with a dielectric of
permittivity € and conductivity ¢ operates
at a frequency o, the loss tangent for the
capacitor is given by
0o
(a) owe (b) N

(0]

m

o

is 1 MQ. For a 100 km long cable it will be

(a) 2 MQ Ib) 0.5 MQ
(c) 4 MQ

d) 1MQ

The transfer function of the system shown
below is

EE!

43. R H o %5 b 9 1 ¢ & w2

44,

45.

46.

g e ¥ frw Terd YA g |

(]

(a) V, =V,
(c) I, = V31,
afe & wifagwa dufe Rt sesaf:

TN € AT FTEHAT 0 HGRT o T
@ 50 U 6 o = g @

0o
€

) I,=0
(d L+1 =0

(a) cwe (b)

e

o
sommmmmnﬁﬂw 1 M
100 km et et 1 wforg ghmy

(@) 2 MQ (b) 0.5 MQ

(c) 4 MQ d) 1 MQ

ﬁ%ﬁ%nﬁmmmw%

R ‘+®_‘ G, G,

G,G,
1+ H,G,G,
G,G,
1+G,G, + GG,H,

(©) o= (d)

(a)

(b)

G,G,
Py
G,G,
1+ GG, +GH,

(d)
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’ The forbidd
€n

300°K is %en_eﬂg"P\/insilicon at
P

)
(b) 0.72 eV af G

v(c) 1.41 eV
(d) 0.785 eV

(a) 1.1 ev ~ 1:3,-

2%

48.  If the Nyquist plot cuts the negative real axis
at a distance of 0.8, then the gain margin of

the system is

(a) 2.25 . o
ok

(b) 0.8

v(z)’ 1.25

(d) -0.8

49. Turn-on time of a transistor used in
switching mode is
(a) Sum of delay time and storage time

\/(_b) Sum of delay time and rise time

(c) Sum of rise time and fall time

(d) Sum of rise time and storage time

50. A system

a stable system will be
(a) 0.5<K<15

Jb) 1<K<2
(c) K<2

¢ .
(d) K>2 o JU(H)
Wy W

51. The negative feedback in an amplifier

leads to
(a) Increase in voltage gain
(b) Increase in current gain

(c) Decrease in band width

\/(d) Decrease in voltage gain

has a characteristic equation
s3+2s2+ (K+})s + 6 =0. The range of K for
~

47.

48.

49.

50.

S1.

. /ﬂdm.

EEST - 09
fyfer & 300° K T refaza HAl- FAUA
2 #

(a) 1.1eV
(b) 0.72 €V
(c) 1.41 €V
(d) 0.785 €V

nﬁmﬁaﬁmmaﬁ%yaﬁo's
ﬁ;ﬂmm%,?ﬁﬁwm‘“ﬁq%

(a) 2.25
(b) 0.8

(c) 1.25
(d) -0.8

Fafi ivs 3 g T R F - T

g @
(a) ot T 7 R WA 1 A

(b) &l @ 3 T EHA FT AT
(c)mmammma‘m
(d) T3 THT 9 TR THG I AN

T el &1 Afrenefors gt
s3+2s2+ (K+1)s + 6= 0% | T R yoredt
% forg K & i geft

(@) 0.5<K< 1.5

(b) 1<K<?2

(c) K<2

(d) K>2

T Tt # TR Hreds Tl e &

« ST #
(a) Feea wfeu § gig Hi 3k
(b) wrar fe # gfg 1 ain

(o) dvsfagy & w61 3k
(d) drvzm wfey § ) 3
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o =

S92,
Polar _Elot of transfer function is

,_T— . 1
9. mw G(i = — ‘
° e R (je) o(l+jor)
Al
oo =0
R @) o
A
i L,
] @=00
(&) — > R
]
]
]
]
®=0
M.
() —2=2 L,
A
T .
a\re
@ —R
. _
[}
=0
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53. Match List - [ ang List
code given below :

A. High-Pass RC
B. Low-Pass RC 2. DC restor

C. Clamping circuit”

List - 1 List - I

. 1. Compensator
circuit

circuit

. Integrator

D. Clipping circuit’ 4. Differentiator

5. Compensated

Code :
A B (o] D
@ S 4 1 2
\/(b) 5 4 2 1 :
© 4 3 2} l) )
da 4 3 1 2

\®

Consider the system represented in state

variable form
% = Ax + Bu
y=Cx+Du
o 1 O 0
where A=| 0 0 1|, B=[0
-k -k -k 1
c=[1 00, D=[o]
The values W are
(@) k>1
(b) k<1
(¢) All values of k
\/(d)k=1

~1land angwer with

attenuator \@\{y

-11-

EEST - 09

53. @_[a@_"ﬁmmg&ﬁaﬁﬁ

54.

3 v I A

-1

‘{:{\Eﬁ—ll

A, & @ RC uRw 1, FHEFHE
B o g RC whwa 2. DC R
c. wdfim afwy 3. ¥R

D. fefin afgy 4. RewRE

5. FEES WL
e
A B C D
@ 5 4 1 2
(b) S 4 2 1
@ 4 3 2 1
@ 4 3 1 2
T 7 ®e INeme & § fad 2
% = Ax + Bu
y=Cx+ Du
0 1 0 0
FRWA=| 0 0 1|, B=|0
k -k -k 1
c=[1 0 0], D =[0]
@naa%gk'mm%
(@ k>1
(b) k<1
(c) k% &ft 7
(d) k=1
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SS. . ? ;
Iihr: ff)rward resistance of the diode shownin | 55, e fea m Thay & b Kl
" ::nl:elow lﬁ S_Q_‘and the other parameters 5 Q% a1 3 tten 1G] :m'aﬁ AT F s
€ as those of 4y, ideal diode. What is ‘ &
' 1 R4, F9= 7
de Component of source current ? A & | i
\) % s
)
., ‘:‘/
\ “
V. sinot V,.sinmt
rad rad
(1)=314s?c (1)=314 sec
», \Y
‘ \% \% A m
m_ m (a) (b)
‘; P 5on ) Sonva 507 5012
] \'A V. 2V, " A
; ) Son 9 Too 12 ) Son @ Too 2
‘F‘ S6. The system matrix of a linear time invariant | 56, % & @y I gad @ g
! continuous time system is given by 0 |
0 1 ; _
' !\\10 A= [ J Roots of the characteristic - ﬂﬁw W ’ZSﬂ'ﬂT T A [—4 t-d
| \%V 4+ = , e g % e gy
equation are
(a) 4,-5 WP -1, -4 (a) -4, -5 (b) -1, 4
(c) 0,-1 (d) -1, -5 (c) O, -1 (d) -1,-5
57. Applying Norton’s theorem, the Norton’s | 57, g ™Y & RLDIL EF{Q?, e agdb&d
equivalent circuit to the left of the terminals .
a and b in the below circuit is having TE H A1 WW‘}W UR & ||
equivalent current source (I) and equivalent T {9 J9T=R 9fy R, Fe &
parallel resistance (R,) as 40 0 “ ’
4 yw an
Y a
24y
2av () ‘
b

(a) IN = 9A, RN =1.6Q (a) IN = 9A’ RN = I6Q
(b) I, = 4A, R, = 600 (b) 1, = 44, R = 60q

(c) Iy = 4A, R, = 3.0 () I,=4A, R =300
A L=5A R, =40
(d) 1, = 5A, R =40

58. An Op-amp hag a common mo i eI feyy
. & de d
0.01 andadlfferenriulguin ol 109, Itsgz(i‘lll\:llfejJ{f 8w Op-amp " e o] % ’
woul HAEH Al 10°3 | ggay CMRR g
(b) 107 (@) 10 (b) 107

S 10 () 107

A (c) 107 (d) 10-
-12




61.

62.

st

SeRAG

Uctj
are C°’W9‘r an
ed tq Ynheh,
OPerate the feeq o co on r. hous motor 59.
1€ Synchrgn.  CF line unit. cder line. To
(a) N flous Otor shg Y Power factor
Ormal excito 1 Ul Be
(b) Under e 7
(c) Discon
Ad) Over excit
A Complex
value is
(@) Vsa
(b) 10 A
AT 5A
(d) oA
For an N-channel JFET Iss = 12 mA, 61.
Ve=-7V,V, =-3.5V. The value of I, is
3 mA J
\M tD . _[_DSS s’" _V,'g-‘ix
(b) 2 mA y
25 |5
12|\ v-7 2~
(c) 18 mA \' f}\
12
(d) 6 mA |7.[|-'~‘>] Yol Y
Given below are two statements, one is labelled 62,
as Assertion (A) and other Reason (R) :
Assertion (A) : The short circuit ratio of a
three phase alternator should be high.
Reason (R) : A high value of SCR will
4> decrease the value of voltage regulation.
Mselect the correct answer using code given
below :
Code :
(a) (A) is true but (R) is false
\/Uay/Both (A) and (R) are true and (A) is
correct explanation of (R)
(c) (A) is false but (R) is true
(d) Both (A) and (R) are true but (A) is not
correct explanation of (R)
-13.

EEST - 09
T 0T gy § W TH IS Hray
NUSI 8 lﬁmmﬁmwﬁrm
waaﬁ%%qml%mtﬁaﬁmﬁm
(a) 91 I
(b) 3= AR
(c) T T A feemdge =
(d) =R g

U @ ur i = 5+ 5 i 100 nt TR
F T A A 2 | 3% 9T F 3rEa w9 @
(a) V5 A

(b) 10 A

(c) 5A

(d) 0A

T N-99d JFET &1 Ihss = 12 mA,
Vo=-7a, v =358 I, &1
= gm

(a) 3 mA

(b) 2 mA

(c) 18 mA

(d) 6 mA

2 Fom (4 3R Fw (R) fRm,
FUA(A) . T Arwcfiy AR 1 W
I ST Brerr R |

m(mzmmaﬁzmiﬁmw
& e @

ﬂé&&n&wﬁﬁmﬁmaﬁv}:
E I
(a) (A)W?%(R)W%

(b) (A)a(R)z}:ﬁwéaﬂt(A) (R) i w&@
Ty B

(c) (A)’Iaa%ﬁ»a(mm%

(d) (A) 3 (R) It Wt R it (a (R) 1 gt
ST T ey
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63. An Op-amp based circuit is shown in figure
below. Current I is

EEST -

63. @Op-ampmwﬁﬁmw%'?
Vs

1,1 A &
. o——\—\ | »
| k n |

Vs
e o)
Rs Q< R,
B & 0) Vs “R(R, +Rs)
(b) VS x R (R +RS) “5 L
S L V [ . 1 J
(c) Vs D
(C) Vs( +—1—-) R RL
Ry R, !
@ 2= R,
R,
:nverse fourier transform of 8(«) is 64. O(w) Pl yfeem wifEr ';fFH‘FF-f 2
mn
64. The \/‘/_’F;—l——’ R A a5 b 1
| (a) d(t) 1
| 1 (d) u(t) (€ 5 (d) u(t)
) =
ic 27

ir of high frequency parallel transmission [ 65. 3=9 Wﬂﬁl % THMEI YRV 181 % !
65 ?p:l:(;las distributed capacitance and
in

_ %1 fqafa dufe vd Jhed AW 1 4F
- quctance of 1 uF and 10 mH respectively. 10 mH 2 | 9137 Y enefre wioamen arft
N mha_racteriSﬁc impedance of the line is
S © e oRo6 (@) 110 Q (b) 98.26 Q
l <\o%o (a) 110 Q (b) 98.
|| 4 (o (100 @ (d) 125Q (c) 100 Q (d) 125 Q
| \/l
\ . k(s*
', 66. The root locus of the open Wr 66. Gl qRay STEBT Bl G(S)H( )= ;((’S’,
k 3 -3M@
| function G(s)H(s) = ((812)) is wI & 8
s(s adqa
\ (a) Ellipse (a)
] \}b(circle (b) 9
(c) Hyperbola (c) KGRICER
(d) Parabola (d) S
A

-14-




(a) 5 MW ] 9"“”6
romw W e
(c) 6 MW o o

(d) 4 MW

68. A 10kVA, 440 V/220 V, 50 Hz single phase

transformer gave the following test results
conducted on high voltage side :

Open circuit test : 440 V, 1.0 A, 100 W
Short circuit test : 20 V, 22.7 A, 130 W.
The efficiency at 0.8 pf lagging is

‘/16)/98.2 %
(b) 96.2 %
(c) 97.2 %

(d) 95.2 %

derdamped control system,
pensator to be used

wld)

-5l e

Given a badly un
the type of cascade com

to improve ts dampIIg 1,

(a) phase-lead-lag

69.

%‘}5
(b) phase-lead

(c) notch filter
& phase-lag

70. Kirchhoff’s current and Kirchhoff’s voltage
laws (KCL and KVL) apply to

(a) Both DC and AC circuits
(b) DC circuit only
\Jc) Linear circuits only

(d) AC circuit only

-15.

EEST - 09
aﬁaé‘mﬁmﬂmsoyw%,m
o Qa?ggvﬁa?so%amtaizmgmsoo/o%l
iz 1 s &wa &
(a)SMW
(b) 10 MW <
(c) 6 MW
(d) 4 MW
68. T 10 kVA, 440 v/220 V, 50 Hz THaA 1
qﬂ"ﬂmﬂﬁaﬁ’éﬁﬂﬁgﬂ mwd
frer e afomm B

69.

70.

rgmqﬁw%{z;Mov, 1.0A, 100 W

o qhgy 3R : 20V, 22.7 A, 130 W |
o.swmwmmgmﬁlamg’vﬁ

(a) 98.2 %
(b) 96.2 %
(c) 97.2 %
(d) 95.2 %

e ) 7 A e I P a7 A
qurY ¥ R g Hehs T

(a) BoA-cfg-a

BREESIS

(c) 7T fheet

(d) Hei-oh

frat® % umr @ e (koL st ki) frem
] Ed 8

(a)a-'ﬁﬁQ YR 9 Yeaddi 9mT qRgy ®

(b) ¥ ey Ry &

(c) Faet Y ghay 3
(d)mgam;ﬁqmmﬁ
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71, Tr
. an .
sfer function for a unity feedback [ 71.

System ; .
figure havmg root locus shown below in ol 2 3G AT g g

A(s+1)

& A(s+1) A L A
()m ()(s+5)(s+6)
A(s+5) A(s +5)
O e ey O T E+2) ;"
A(s+2) A(s+2)
© G+ (E+5) © s+1)(s+5)
A

A
@ SE+DG+9) @ St +9)

72. o3 4 @R M 6 v & SR SRS &1 A

72. The 6 V zener diode shown in the figure has

zero zener resistance and a knee current of . .

5 mA. The minimum value of R, so that the QEI?PJT:ﬁ R 5mA§ l sa%;ﬂaﬁwah;
i Al b ] F = 7 fir

voltage across it does not fall below 6 V, is 6V q 3% o R #7 =Haq M 3
50Q 6\/ 50Q

B ¢ m
1oV "= E 10V ‘J\ /j;/

o
< ::)) 2:5 ; ;5259 :a)’ :;Q (b) 1.2 kQ
¢ (d) 80Q
73. g;lzzgggnzfa DC motor can be controlled [ 73, ws fow ypy e 6 1y # frifye a
r/ (a) its flux Wﬂaﬁa%mm?
(b) applied voltage (a) 35 T
(b) S dreear )

(c) armatyre resistance

Wthe above (c) CﬂTﬁ?f( gﬁﬁu &l

(d) 3Tea |y

-16-




74, Match the it ;
and ch o In
00Se correct Answye, ; And List = 1I
code : Swer from the given
List —
( A. Copper loss -3 1 Li;t o
| B. Eddy current lossg, 2. T(l(szax)lﬁfv
[ C. Hysteresis lossy, 3 I’R
| D. Windage loss .
‘ T 4 kB *
Code : | S
A B c p
@ 4 3 1 2
b)) 3 1 4 2
N R A
[d 3 4 2 1

The impedance of a parallel RLC network is
Ss
Z(S) = 2 )
s +0.5s + 100

the value of R, L
and C are respectively
1 1

(8) 109, —H, ~F "Q
Py

1 1 8%
—H,-F
(by 109, 50" 5 S

1.1
o Ltulr
(c) 292 25H, 5

1.1
~H,-F
(@) 10, SH, -

76. The rated voltage of 3-phase power system
is giveg__as

(a) rms line to line voltage
(b) rms phase voltage y

C(c) peaI: line to line voltage -
(d) peak };hase voitagex

2(s+1)
77. If L[f(t)] = 12545 then f(0") and f(x)
are given by ——————

(@) 0, 1 respectively  (b) 0, 2 respectively

(c) 2/5 0 respectively (d) 2, 0 respectively

/

S

2 -17.

74.

75.

76.

717.

—

EEST - 09

gt 1R TR - 11 B Ao A e o
J g I 9P

T -1 = -1

A. HTIT TH 1. n(Bmax)'® fv
B. T8 iz aH 2. aN?

c. i o 3. IR
D.frwa® 4. k(Bmax’ rur
EEZ-A B C D

@ 4 3 1 2

() 3 1 4 2

cg 3 4 1 2

@ 3 4 2 1

TR RLC Rty =t wfeaman

y oS 2ITER, LT C
2(8)= 770,55 + 100

1 9§ HE: B
1

1
Q,—H)_F
(@) 109 567 2

1.1
100, —H, 1
(®) 20 °5
1.1
20, Ly lp
(©) 2% 55 5

F -

@ 10, 1n Lr
2’5

et wrer whr w1 frtta Seew s 2
(a) AN.UH.TH. ATRA-AATH Sed

(b) IR.TH.TH. %t Ao

(c) ¥ ATEH-TTE A

(d) ¥ %S dreew

R L[r()]= 26D

?ﬂmtﬁm s +2s+ 5
(a) shHST: 0,1
(c) shww: 2/5,0

3, @ {(0) W f(w)

(b) SHS: 0, 2
(d) ES: 2, 0



A,
(c) 4, (d) /2

79. The valges of current i, and i, in the circuit [ 79.
figure given below are —  —

80.

(a) 14A, -10A
) ~14A, 10A

(c) 14A, 10A

(d) -14A, -10A

loss of 1 kW and full-load copper loss of
2 kW, the load at which maximum efficiency

ogeurs e

() 50.5 kVA
(b) 100 kVA
(c) 25.2 kVA

\)9}40.7 kVA

81. Jggandwh_pgsscs 81.

(a) Low switching losses
M Low on-state power losses
(c) High Input Impedance

(d) High on-state power losses

-18.

agnetic waye travelling in high | 7,

In case of a 100 kVA transformer with iron [ 80.

EEST - O

R Tt in o f 3w A T
£, IR T ) &, i A A
4 FH Forded 4 1 @ Al § W
e gt
(a) 2, (b) A%

M
(c) 42, ) A

R Rl o & i 7, T A

(a) 14A, -10A
(b) -14A, 10A
(c) 14A, 10A

(d) -14A, -10A

TH 100 kVA FIRRE et g @1 1 kw
AR et it W &I 2 kw R fean qaa W
s gm

(a) 50.5 kVA
(b) 100 kVA
(c) 25.2 kVA
(d) 70.7 kVA

IGBT 3R BJT 3 & 2

(a) P feafim arfart

(b) 1= - 3w wfda wrfyat
(C,mﬁ'&mnﬁmm

(d) I HA-awa nfF vt




83.

1
d z,, =—
12 Y22
Natural frequency of oscillation for a second
order system is 1Q rad/sec and its damping
ratio is 0.1. The 2W
(a) 0.4 sec ‘ \ . 2.],
\_/('b’ 4.0 sec ']% 450" g“ \
(c) 4.5 sec A O
(d) 10 sec AiRellR
wa0)
84. Z-transform of x[n] Q_ X —h‘(“) is
z e-m
@ — 0 ub)
Z+e ¥
z 2
( Z-
1
D
Z
- Z+ e(y"’J
Z
d) ———
Z - ¢4

The term;j
i
g nal Voltage a
Wo-port Network are i, nd Currents of a

) t\\m_ ed in me re
then POTt netwoyy. - i

(@) h,; = —h,,
z R
(b) Y—m = Z?z Z”z22 A/D
12 r

82.

83.

84.

EEST - 09

3 2t Rz # Q- radk ¥ ofifam Ao w0
s f T R | af Ao ks sy B, @

-7 £
v, Yead Vv,
[ SO IN—
(@) h,;, =-hy

Z
(b) ?Jl > 2122 -2,2,

(c) AD-BC =0

1
N

mmm%wﬁmﬁmﬁ
10 rad/sec & 7U1 FHET awEA FTE 0.1 2 |

H* 2% fouTE 7% % T R
(a) 0.4 sec
(b) 4.0 sec
(c) 4.5 sec
(d) 10 sec

|
i
l

LIS E | x[nlzc-(n/w)u(n) *1 Z- g 2



87.

4
21| 8 @@ x =A%
85. Thcsi':‘*ttfm)'(=14\X+BUwithi‘\=[0 2}’ A’[—l ZIWB’[O}%’ﬂm
- Lot
(a) Unstable and uncontrollablé (@) e i it
\/ba/ Stable and controllable (o) FoR faeifd
(¢) Stable but uncontrollable (o) foure A CE
(d) Unstable but controllable (d) Ffer A ﬁqﬁﬂ
86. Reactance relay is normally preferred for | 86- ftocrall fed graraadt = q Ul & fore
protectlon against mﬂ %
(a) Earth fault (a) {qﬂ* aq
(b) Open circuit fault (b) G e Ay
\/46) Phase fault (c) FET a9
(d) None of these (d) m o] o
57 for U Wiz SFA 200 V T 7.5 kW T

unt generator supplies a load of
0V.The SFdre resistance is

sxstance is 80 ohms. T he

2

A DC sh
7. 5kW at 20
0.6 Q2 and field re

generated emf is
(a) 123.5V

(b) 224V

(c) 202V

(d) 448 V

:ﬁﬁm% | s wfedy 0.6 @ @1 HiEE
goQ? | Y g faaa 1 A B
(a) 123.5V

(b) 224 V

(c) 202 V

(d) 448 V

. T & P HOH HEer A

(@ VxF=0
b) V.VF=0

(¢ V.F=0

(d) 390§ § 1 3



E%

%
5

89.
= 10\ R,

VC\: =10 \Y
I“l R,=6.2 kQ
C
Rl =16 kQ B
e AN Vo,
1} —>
K - \,@
l Vee E
(a) 1.99V (b) 1.78V
(c) 2.55V (d) 2.57V

90. A two-port device is defined by the following
pair of equations :

. -
i,=2v +vyandi,=v, +V,

Its impedance parameters (Z,,, Z,,, Z,,> Z,))

are
fa)(1,1,1,2)
b)(2,1,1,1)
(©) 2,-1,-1, 1)
(d) (1,-1,-1,2)

91) A unity feedback system has a forward path
transfer function G(s)= M
If the system is subjecﬁ(lé.lm&ut
r(t) 1+t ?'thewf
the system will be

X a) 10 T _é.,}}l_ \
" (b) zero 3 s

(c) = JP‘ ) qQ
(d) 0. ;«5 /jgj;/

89. Q’iﬁnpnCE

90.

91.

EEST - 09

FARRRIA BJTH 9@ V= 10V,
- 6.2 kKQ 3N B, = 20,7 BJT

R, - 16 k€, R,
Eﬁ'(on state)wﬁmﬁ%mmﬁ&n
il V=10V

(b) 1.78 V
(d) 2.57V

(a) 1.99 V
(c) 2.55V

o f-ré 77 %1 e e % 3 @ ahonfva
feram T 8

ll=2vl+v23ﬂ{ 12=V]+v2

E = Y= (2, 2, Z,, Z,,) &
(@) (1,1, 1,2
(b) (2,1, 1,1)
() (2,—1’_1’ 1)
(d)(l,—l,-l,g)
@W’é‘ﬁlgaﬁﬁaﬁmwmw
ale)- IO(IMS)%Wﬁaaamﬁém
S ( )
()—1+t+_% RN
(@) 10 .
o %
(b) Y= . )V/
o |2 %-»
d - v
(d) o1 ¢ " N /}.
6;) N
4
\0 v %



& EEST

92. | . P o = @ @mE o
v Space, if p = 0, the Poisson’s equation | 92. e &3 g d p = 02, L
bcComes -~ —— =1 B
() Maxwelpg Convergence equation V.B = 0 (a) AFGIT Fra3-g GHH V.B =0
(b) Kirchhofps voltage equation y v = 0 (b) TFTaT® @1 diees @i TV =0
\Mp]aCian equation V2v =0 (C) m m‘" V2V =0
(d) None of the above (d) I5F F @ 1 T
93. For the symmetrical 2-port network given | 93. #9 fe @ Q-9 gwew Yead ¥ Ry I
below the transmission parqgte/r_‘éﬁ AR
1 P = 2
O——AAA, AMN—
300 300 1 " S pAASEEE
< 100
10Q
1 o— —o2' I ,
1 o— —02
(@ 1Q (@) 1Q
\}17!/4 = (b) 4Q
(© /49 © Yo
f the above .
(d) None © (d) IRF § ¥ g 7y
-
Vv it step response of .
94. Theuni a system is 94,
)% (1 - €*(1 * Y] Ult). The system i Wﬁmmﬁmm (1-ey1+gu
"/\—\_—¥_
/ feeam v R ?
(a) Critically stab]e
(a) &ﬁm
g (b) Unstable @R
| . (b) 3y
i (c) 000111atory
::2
{ \M&b)e (©)
.\ (d) fRer



=

95. Match the followin
alternative from List

List - I
(Time function)

—

Code :
A B C D
@ 1 2 4 3
\/gr)/ 1 2 3 4
0 2 1 4 3
@ 2 1 3 4

96. The transfer function of a low pass RC

network is

RC
@ @+ rCs)

(b) RCs (1 + RCS)

S
(¢} {1+ RCs)
1

97. A Schmitt trigg
wave form intg

\/(Mﬁangular wave

(b) Sine Waye
() Square wave

@ Sawtootp Wave

B and Choose correCt
-lang List - II.

(Laplace transform)

€r convertg slowly varying

List - 11

4
2. ys’

EEST - 09

os. -1 gA-11 A Prem A gu ol T Fe

96.

97.

3 wd frwes IR |
-1 -0
() (FTeETTE ZFATH)
A 4
Bt 2. )
L
C. sinwt (s + w’)
o
D. coswt 4. (s—z:w_"')
L T
A B C D
@ 1 2 4 3
M 1 2 3 4
© 2 1 4 3
d 2 1 3 4

T - RC 9ftew 1 Zraw e 2

(a) &
(1+ RCs)

(b) RCs (1 + RCs)
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\ .\n}ﬁ_o

. Q8.
98. The }Vave form Shown belOW is a halfw;:i
rectified sine wave. The average PO
dissipated in a 10 Q resistor is
V()
10
t
0‘ T 27 3n
(a) 0.25 W (b) 25 W
(c) 2.5W (d) 250 W
99. An 8 pole, 3-phase, 50 Hz induction motor 99.
. . ¢
is operating at 720 rpm. The frequency O
rotor current is —
(a) 3 Hz N '
2 Hz /\® _éb W E\
| (c) 1 Hz )'%\y AY o cp'\}s
() 4 Hz \§
100. The unique model of a system is ()@ 100.
(a) State variables )5
(b) Signal flow graphs
(c) Transfer function
(d) Block diagrams
101. The frequency of the power wave, associated | 10
with an electromagnetic wave, having a f; '
—eh¢ z\ . eld
as E=¢€ 7 cos “’t‘g),lsgivenby
®
(@) =
®
®) o=
2
(©) 2n
49 2
(d) p
A

"24.

EEST - 0¥

.

(b) 25 W
(d) 250 W

(a) 0.25 W
() 2.5W

fraert, 50 Hz T et 720 g

oLl AgA@ | Qe G =T 31

wf fore i
it

(a) 3 Hz

(b) 2 Hz

(c) 1 Hz

(d) 4 Hz

(a) feafa =

(b) faet =l o
(c) AT FeA
(d) T g

E=e’ :
' e cos(mt—g)%,ﬁmﬁm‘ﬂ’%ﬂ
AR g}

(a) o
1:



B |
05. T 10 kVA, 400 V/200 V THd é;q:;
- R SfaTeT 10% & T8 R It
T 8
(a) 250 A (b) 50 A
(c) 350 A (d) 150 A

106. @mﬁmq{mwm%
(a) YR et i W
(b) fer firey wie
(c) W e

(d) 31 Wt e
107, ﬁ'q ﬁ a ﬁ:[

- FmE

4 e VCB)

“ (IC’ VCE)

'mﬁiﬁqﬁ'gaﬁﬁw

(b) (I, V)
q (IE’ VCE)



foe

108. For an ele

EEST - 0

108. @ foadfta 83 £ = £, sinot ® | 6% e,

: tri
dlfferencecb::tcwf;lazlrzj 5: %o Sinmt: The phase
and displacement curfe(r:mc:r;SUCtlon current B T 6 i
(a) 90° (a) 90°
(b) 45° (b) 45°
(c) 180° (c) 180°
(d) 0° (d) 0°
109.  For a transmission line if 5 then 109, F e A AR 2=~ @, @ FE
mco\rr/egtﬁ statement is C Tod 99 8 ¢
(@) Ifa serie:s of pulses are transmitted (a) gfe wh qod # oft g gt 2, @ fim
they arrive undistorted frefia
2 g g
() 25 =B :
0o =G b) 25 =R
(c) The line is lossless (c) @ & ¢ gify 7€ gt

>~—
(d) The line is called distortionless line

110. Bulk power transmission over a long HVDC
lines are preferred on account of
(a) Minimum line power losses
(b) Low cost of HVDC terminal
(c) No Harmonic problems
(d) Simple protection
is used for generating

A Hartley oscillator
illations

111.
(a) Microwave 0SC

(b) Very low frequency oscillations

(c) Audio frequency oscillations

(d) Radio frequency oscillations

Ohm’s law in point form in field theory can

112 be expressed as

(a) J= oF
(b) V =RI

(c) R=

Alm >

(d) J=

(d) AT Frequdh et st

110, warer Gf# $ IREY @& HVDC @18F % 37
o= Fror & faRa ST @

(a) AT TATEA BT F HIO
(b) HVDC 29t & &1 &rmd & SR
(c) EMIS qEET 7 81 & FRO

(d) TTHTT L& & H

U g Qiedeh 1 T4 fohan orm 2
(a) ATEHIAT e & famior

(b) Hfafr= amgfa Qe & famiw &
(c) 3nfeat Fmafes e & fmfor 3

(d) e smafer e % fmfor &

111.

112, e @i § 3w & Fam &1 gz wnf g@m

(a) J=oFE

-26-
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113, 4% foa ma wfibe  frfa e &

113,, Output volta
0 ge of the Clrcult given belOW is
2kO 5kQ 8kQ v
-5V 10k0
.y,
(a) 42.5V (b) 40.5 v (a) 42.5 V (b) 40.5V
() 35V (d) 12,5V () 35V @ 125V
114. The pole-zero plot shown below 114. 99 gufd ™ e # G- S
represents a g @&
Iﬁ jo fr jo
o0—6 > H—O—O0—¥H— >
—X—6—0— e o
\Ug\/ "
(a) PID controller (a) F.31m8. 9. fra
(b) PD controller (b) .8, frgas
(c) Lag-lead compensating network (©) ﬁﬂ-?ﬁg wiraﬁf‘m 3 i
(d) None of the above (d) Wﬁﬁ 3 ﬁ ﬁré q'iﬁ
= 0 at all points on a closed surface, th .
115'%{smtementsare & then | 115, WWW%W%@WE=O%
1. The electric flux through al] points of had é ™ w
the surface is zero. 1 %
2. The to@ charge enclosed by the - U8 & ovft ﬁ‘-gaﬁ | ﬁga g %
surface is zero. 2. W gy . TIg
3. Charge resides on the g, race . $A J_Y & qN =™ % |
(a) 2 and 3 only ' W‘Rﬁmg,
(b) 1 and 2 onjy (2) 399 2 g 5
(c) 1,2and 3 b .
(b) Fag W 9
(d, 1 and 3 only (C) .
L2wg
A (d) g
1w 3




ot iR
i |

List-
1 List-II
A. g = 0 1 R N ]
B. o« " + Roots are real and equa
\,i_l_ 2. Roots are real and
- unequal
-§=1 ~'3. Roots are complex
conjugate
D.g>1 4. Roots are purely
imaginary
Code
A B Cc p
@ 2 §_ 4 1
(b) 4 3 1 2
(c) 2 1 4 3
@ 4 1 3 2

117. Transmission lines are transposed to
(a) Reduce transmission loss
(b) Reduce Ferranti effect

(c) Reduce interference with neighbouring
communication lines

(d) Reduce skin effect

118. Which one of the following effects in the system
is NOT caused by negative feedback ?

\_/—\—’\_/‘
(a) Increase in distortion
(b) Reduction in gain
(c) Reduction in output impedance

(d) Increase in bandwidth

i f th i ;
119. Which o ese 18391‘,&1](1 at point

p(0,4,0)?

(a) a,= 4a (b) a = o
= [] X

(c) a, a (d) a =4

Z

X ’ e ombin .
specified for load ationg of var:
ﬁOW St 5 Vanables
(@) P, |y udy is
(c) Q,[vl \)bj VI, s

@ p, g

119. Hﬁéﬁq—mﬁ%p(o

EEST - 09
116, FH-18 7eft-11 A firerm Hifore 3 Fefefag
fershedi o Qg 3er w1 =T HIRC
a1 -1
A E=0 1. et areafae 3 TR
Bt 2
B.O<t<] 2 Ja arafasd 3 FEHH
Bt B
C.t=1 3. e e WM @
D. &> 1 4. 7 Tagg €9 8 FeAt 2
%e :
A BCOD
@ 2 3 4 1
b 4 3 1 2
(c) 2 1 4 3
d 4 1 3 2

117. Heol STt Y graats fean wmar @
(a) T BT 0w F forg
(b) BT T Y ¥ Ry

(c)ﬁmwm%mgma}qaﬁw
A % fe

(d) feF g N F = F g
118. Wﬁﬁﬁﬁa@Wﬁaﬁq

(@) a=4a (b) a -
T -a
(C) ap_~a (d) a°~ x
0“82
120. MR YATE SCRH F fopy wyg ,
aftrn 2 e TR fifee w7
b1V B v, 5

(c) O |\



122.

123.

124.

125.

AN

EEST - 09

fyah afe AR, B EIRA C

capacitance ‘C’ as show. . S bridged by | 121.
h g . .
then the effective mpstwn In below circuit, g A3 R ™ ama i wfta & | T T
—— Capacitance is )
c l C
vV, o—— v v,
o vl O
(@) C(1 + A) (b) C/A (@) C(1 + A) (b) C/A
() C(1 - A) (d) AC (c) C(1-A) (d) AC
Corona is 122. HRATR
(a) Sparking between lines (a) ars=ﬁ & €= wh
(b) Partial breakdown of air (b) &1 T AifH FHSIS
(c) Unequal distribution of currents (c) FEHE °Td Forarn
(d) Complete breakdown of air (d) &A1 T T’f AHSIIA
Transformer rating is given in kVA because 123. Wﬁw kVAT & et %, Fifh qfeonfi
total loss of the transformer depends on H $ g R =t 2
(a) Current only (a) Fad T |
(b) Voltage only F¥aa 3eedl
(b) RIS
le betw 1t d
(C) cP:?:een?ng © between voTe" ¢ (c) 3feedT 3l urr % = FHAT-HOT R
(d) Both (a) and (b) (d) (a) 3R (b) A W
A transformer is rated at 11 kV/0.4 kV, | 124. fdft 500 kVA, 11 kV/0.4 kV SRunfas =
500 kVA, 5% reactance. The short circuit yfeama o _ R
MVA waormer when connected to 5% ¥ | TW-aR J A
an infinite bus is qionfE <1 ag‘ll?la MVA 2
(a) 10 MVA (a) 10 MVA
(b) 100 MVA (b) 100 MVA
(c) 1 MVA (c) 1 MVA
(d) None of the above (d) 39 o Q +IE T
Load flow study is carried out for
125. WR-Yq18 3reaq fpa <
(a) System planning %
a Slulldl !ﬂq:n
(b) Fault calculations N %ﬂ
b) ®IeE UMY
(c) Load frequency contro] (b e %3
(d) Stability studies (¢) Wre-3mgfRy Fror ?q
(d) R srer g
\




